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Passage 1
Where there were taxes there always seemed to be the question of whether the taxes were fair. During the middle ages, there
were many taxes. Every adult had to pay a poll tax, a tax just for being there and existing as a person. There were also property
taxes, even if one did not own property, and part of every person’s work or what they grew must go to the Church.
Nobles revolted against King John in 1215 because he asked for payment of new taxes, made current taxes greater, and tried
to tax people to pay for a war effort. King John’s Leadership was not trusted by the people who felt they had no obligation to
pay to support this war.
51- According to the passage, the earliest known tax records are found in modern —day ...... (iranarze.ir)
1) Greece 2) China 3) Rome 4) Iraq
52- The word “it” In paragraph 2 refers to ......... (iranarze.ir)
1) Each person’s land 2) The government
3) Taxation 4) Civilization
53- Which of the following is a tax for existing as a person? (iranarze.ir)
1) Property tax 2) Sales tax
3) Poll tax 4) Income tax
54- According to the passage, people rebelled against King John for all of the following reasons EXCEPT that the ......
1) Forced people to submit a part of they grew to the Church
2) Made current for payment of new taxes
3) Asked for payment of new taxes
4) Tried to tax people to pay for a war effort
55- The word “obligation” in the last line is similar in meaning to ....... . (iranarze.ir)

1) Excitement 2) Achievement 3) Commitment 4) Punishment
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Passage 2

Leading investors have joined the growing chorus if concern about government and companies leading into producing biofuels
as a solution for global warming, saying that many involved in the sector could be jeopardizing future profits if they do not
consider the long — term impact if What they are doing carefully.

It is essential to build sustainability criteria into the supply chain of any green fuel project in order to ensure that there is no
adverse effect on the surrounding environment and social structures. The report produced by the investors expresses concern
that many companies may not be fully aware of the potential pitfalls in the biofuel sector.

Production of corn and soya beans has increased dramatically in the last years as an eco-friendly alternative to fossil fuels but
environmental and human rights campaigners are worried that this will lead to destruction of rain forests. Food prices could
also go up as there is increased competition for crops as both foodstuffs and sources of fuel. Last week, the UN warned that
biofuels could haver dangerous side effects and said that steps need to be taken to make sure that land converted to grow
biofuels does not damage the environment or cause civil unrest. There is already great concern about palm oil, which is used
in many foods in addition to being an important biofuel, as rain forests are being cleared in some countries and people driven
from their homes to create palm oil plantations.

As analyst and author of the investors' report says that biofuels are not a cure for climate change but they can play their part
as long as governments and companies manage the social and environmental impacts thoroughly. There should also be greater
measure taken to increase efficiency and to reduce demand.

56 -Which of the following is the best title for the passage? (iranarze.ir)

1) The Growing Chorus of Concern

2) Leading Investors

3) The Impact of Global Warming

4) Biofuels and the Environment

57 -The word "adverse" in paragraph 2 is similar in meaning to ........ . (iranarze.ir)

1) Purposeful 2) Harmful 3) Successful 4) Grateful

58- According to the passage, why are environmental and human rights campaign? (iranarze.ir)

1) They are not sure if land converted to grow biofuels damages the environment or civil unrest.

2) Food prices are likely to go up as there is increased competition for all types of as foodstuffs.

3) They are concerned about palm oil, which is used in many foods in addition to an important biofuel.

4) The increase in production of corn and soya beans is likely to result in destruction rain forests.

59- The word "they" in paragraph 4 refers to ....... . (iranarze.ir)
1) Investors 2) Biofuels
3) Companies 4) Governments

60- What is the author's attitude toward the use of biofuels? (iranarze.ir)
1) Pessimistic 2) Neutral

3) Ironic 4) Hopeful
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